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Question Title N Mean SD Max Mark FF Attempt %
1a 622 8.7 3.3 15 57.8 41.6
1b 625 5.7 2.2 10 56.6 41.8
2a 276 7.1 2 10 71.2 18.4
2b 259 7.3 4 15 48.9 17.3
3a 23 6.5 2.4 10 64.8 1.5
3b 21 8.5 4.2 15 56.5 1.4
4a 1219 6.4 2.5 10 64.3 81.5
4b 1209 8.7 3 15 57.9 80.8
5a 1284 5.9 3 10 58.8 85.8
Sb 1337 8.2 34 15 54.6 89.4
6a 892 6.9 2.2 10 68.9 59.6
6b 851 8.7 3.1 15 58.3 56.9
7 512 11.2 5.1 25 44.8 34.2
8 951 14.3 4.6 25 57.2 63.6
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sticky Note

AO3



Sticky Note

Link to statement here (which could be made more explicit)



Sticky Note

AO3 points identified and fully explained



Sticky Note

AO3



Sticky Note

AO3 evaluation point linked to evidence (social psychological explanations)



Sticky Note

AO2



Sticky Note

AO3

Strong opening statement



Sticky Note

immediate reference to statement
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Sticky Note

AO3 6 marks
Reasonable evaluation is made of explanations of criminal behaviour



Sticky Note

AO2 2 marks
Reference to the statement is superficial



Sticky Note

Total = 8 marks



Sticky Note

AO2 link to statement
(candidate could have used 'born and not made' to make link more explicit)



Sticky Note

Conclusion



Sticky Note

AO2
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Sticky Note

First explanation identified.
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Sticky Note

AO3



Sticky Note

AO2 Good application to the statement.



Sticky Note

Total 4+3 = 7



Sticky Note

AO1 - 3 marks
Just reaches the 'reasonably detailed and accurate' band.



Sticky Note

AO1
Good explanation.



Sticky Note

4 marks - top of 'reasonable detailed and accurate' band.



Sticky Note

AO1
reasonable but could be more detailed.





VYIIE HEG U0 Uiyl YUSGOUWs | TIviuan s
RN W

the boxes next to the first line of your answer B
Ysgrifennweh rif dau ddigid y cwestiwn yn y y Af’] swer s gé‘ie’
blychau gyferbyn & llinell gyntaf eich ateb - g Ateb L

crimvihds e mfuencad buu thaic _anuiconmont  and il L
@Tém\,uh%. Ciends  owdl Social _norms oflwence  Halr moralc
Jdand whad oy consderd is corect o/ mm/rﬁ’di jn_terms
of  lowo - This Suager;H‘ that  the explonation wiwld gy
_@5%_@ it e steeront  and Vhek  oriminal  bohauioiv st |
(=) lhdn ok | iasteod  utue plays the  main  r0l uuch
Iresadks ia Chamnok _ hehoniow! . [E also \91'0\&5 an agouit for
vionk amd  noh - vickenk  erimes Qs specific  SKUls art @ L
: ' F&MC&D\J\ wikhin a  copmnily b& @(MM;{N of _friends in
S L@L@_J;m commal e Cr,,\,é - dhis dnwu Shows ot
= Phe orminal is  ‘madd'  and  wok bo/n a_crinmingd-
Howew!  a a@mhc tadadion  pxplanation would L
Su&c)ea% Yot criminals cm& ki as critingds  as (b ghows L
) J)‘.g{ ZAY: orphans  uwai¥h  parendS _urho
_ Crite  who ere thon adopted ore  [27.
mene. tukloy fo ko comanst  Crinue “}’M{M fwﬁ«ar@% "
INYaitne: \{K Hhon Mg adepled chuldeen (uhos porentS i
Juneren erinticals. This  Shows thel _thare is a.g link i
Yo HALON thﬂﬂcs ord  Crime _and ot these  geses
o [y;emmat and  the _individuals hasec/innindd

he hroiou/s mm/i(/j; anul Mﬂr\eﬁm@ 4@3@2 oyree uuth L
M stadeaeat |

8/uT

i




Pencil



Sticky Note

AO2 4 marks
Appropriate evidence has been selected and applied.
Reasonable references to statement throughout.



Sticky Note

AO1 6 marks
A reasonable evaluation of explanations of criminal behaviours.
Reasonable conclusion.



Sticky Note

Total 6+4 = 10



Sticky Note

Reasonable conclusion.



Sticky Note

AO2



Sticky Note

AO2 Explicit links to the statement.



Sticky Note

AO3



Sticky Note

AO2 Good links to the statement.



Sticky Note

There are no marks available for description.
















4. Criminal behaviours

(a) Describe two biological explanations of criminal behaviour. [5+5]

(b) ‘Criminals are born and not made.

With reference to explanations of criminal behaviour assess how far you agree with the
statement above. [15]
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5. Schizophrenia

(@)

© WIJEC CBAC Ltd.

Describe two individual differences explanations of schizophrenia. [5+5]

This question asks for AO1 (outline of two individual differences explanations
of schizophrenia).

Credit could be given for:
e Any explanations that fit the individual differences category. These
include:

Thought disorder (profound disruption in cognition and emaotion,
affecting the most fundamental human attributes: language, thought,
perception, affect, and sense of self and frequently includes
psychotic manifestations, such as hearing internal voices or
experiencing other sensations not connected to an obvious source
(hallucinations) and assigning unusual significance or meaning to
normal events or holding fixed false personal beliefs (delusions).
Schizophrenogenic mother (a dominating, over-protective but also
rejecting parenting style).

Sex differences (the notion that different genders often exhibit
different symptoms. It is suggested that men become more passive,
apathetic, and socially withdrawn from society, while women become
more impulsive, outgoing, and domineering. This has been called
role reversal because each gender shows features opposite to their
stereotyped gender role. Females are more likely to develop
paranoid symptoms and men are more likely to develop religious
delusions and delusions of grandeur.

e Any other appropriate explanation.

For each explanation:

Marks

AO1

5

Description of explanation is thorough and accurate.
There is depth and range to the material included.
Effective use of terminology throughout.

Logical structure.

34

Description of explanation is reasonably detailed and accurate.

e There is depth and range to the material used but not in equal
measure.

e Good use of terminology.

Structure is mostly logical.

1-2

Description of explanation is basic in detail and accuracy.
There is depth or range only in material used.

Some use of appropriate terminology.

Answer lacks structure.

Inappropriate answer given.
e No response attempted.

14






(b) 0] Briefly explain how biological explanations could be applied to
methods of modifying schizophrenia. [5]

This question asks for AO2 (application of explanations to methods
of modifying schizophrenia)

Credit could be given for:

¢ A demonstration of the understanding of the way a general
biological approach would be applied to modifying schizophrenia.

¢ Linking the assumptions of the biological approach to a broad (or
specific named) method of modifying schizophrenia.

e Any other appropriate application of biological explanations to
methods of modifying schizophrenia.

Marks AO2
5 e Details are accurate.
¢ The evidence used is well-chosen and applied
effectively.
3-4 e Details are mostly accurate.
e Appropriate evidence used and applied.
1-2 e There may be inaccuracies throughout.
e Exemplars are described but not applied or have weak
links to the question.
0 e No evidence included.
¢ No attempt at application.

15
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© WIJEC CBAC Ltd.

(i) Evaluate biological explanations of schizophrenia. [10]

This question asks for AO3 (evaluation of biological explanations of
schizophrenia.)

Credit could be given for:

e Cannabis influence on brain chemistry.

¢ The dopamine hypothesis.

¢ The theory of enlarged ventricles.

e Candidates may choose from these or may refer to any other
appropriate biological explanation. The answer must refer to at
least two explanations.

e Likely evaluation points include:

The evidence for / against each of the explanations chosen
The evidence for / against the biological explanation in more
general terms / alternatives to the biological explanation
The application of the explanation to treatment / prevention /
education

The impact of the explanation on public attitudes (blame)
Links to debates such as nature-nurture

e Any other appropriate evaluation point.

Marks AO3
9-10 e A thorough evaluation made of biological explanations
of schizophrenia.
Structure is logical throughout.
e Depth and range included.
An appropriate conclusion is reached based on
evidence presented.
6-8 e Areasonable evaluation is made of biological
explanations of schizophrenia.
e Structure is mostly logical.
e Depth and range but not in equal measure.
e A reasonable conclusion is reached based on
evidence presented.
3-5 e Basic evaluation is made of biological explanations of
schizophrenia.
e Structure is reasonable.
Depth or range.
e A basic conclusion is reached.
1-2 e Superficial evaluation is made of biological
explanations of schizophrenia.
e Answer lacks structure.
e There is no conclusion.
0 e Inappropriate answer given.

e No response attempted.

16
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Sticky Note

Basic AO3



Sticky Note

AO2 3 marks
Details are mostly accurate. Focuses more on a description of dopamine than on an explanation of how the biological approach could be applied to methods of modifying schizophrenia.



Sticky Note

The final sentence is a explanation of the link between the approach and the method of modification.



Sticky Note

Both answers need to be more detailed.



Sticky Note

AO1 is basic 
2 marks



Sticky Note

AO1 is basic
2 marks



Sticky Note

Question 5a asked for two explanations of schizophrenia.



Sticky Note

First explanation.
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Sticky Note

AO3 3 Marks

This evaluation is basic and could have been elaborated upon.



Sticky Note

Basic AO3



Sticky Note

AO3
Points are appropriate but basic.



Sticky Note

AO3
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Pencil



Pencil



Sticky Note

Description of explanation is thorough and accurate.
5 marks



Sticky Note

4+5 = 9 marks



Sticky Note

AO1



Sticky Note

Good detail.



Sticky Note

AO1



Sticky Note

Second explanation identified.



Sticky Note

Reasonably detailed and accurate 4 marks.



Sticky Note

AO1



Sticky Note

first explanation identified
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Pencil



Pencil



Sticky Note

AO3



Sticky Note

Good point to make.



Sticky Note

AO3



Sticky Note

AO3



Sticky Note

AO3



Sticky Note

Opening sentence makes it clear which explanations will be considered.



Sticky Note

Explanation of how the biological approach could be applied to methods of modifying schizophrenia could be made more explicit.
3 marks



Sticky Note

AO2



Sticky Note

Candidate has spent too much time describing the three versions of the dopamine hypothesis rather than evaluating these.



Sticky Note

There are no marks available for description.
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Sticky Note

AO3 7 marks
Overall, this is a reasonable evaluation of biological explanations of schizophrenia. Depth and range but not in equal measure. Structure is mostly logical. Reasonable conclusion reached based on the evidence presented.



Sticky Note

AO3



Sticky Note

AO3 in this section is stronger than in the section on dopamine .






















5. Schizophrenia

(@) Describe two individual differences explanations of schizophrenia. [5+5]

(b) (i) Briefly explain how biological explanations could be applied to modifying

schizophrenia. (3]

(i)  Evaluate biological explanations of schizophrenia. [10]










6a) One of the main explanations for stress is the biological explanation. Adrenaline causes acute
stress as it provides a quick burst of energy to engage the stressor with a fight or flight response. The
sympathetic nervous system is stimulated as the hypothalamus detects a stimulus. The hypothalamus
signals the adrenal gland excretes certain neurotransmitters to deal with the stress. For acute stress,
adrenaline or nor-adrenaline is secreted. Adrenaline causes many physiological factors to engage, for
example, the heart rate will increase, blood pressure will increase and so will other factors such as
sweating will occur. This prepares the body for certain stressors (fight or flight response). This idea
comes from the EEA (environment of evolutionary adaptiveness) explanation where by it is believed
that we have learnt to adapt to certain types of stressors. For example, millions of years ago, humans
had to hunt for their food and therefore may be subject to certain animals that may attack them.
However, the stressors nowadays may be more mundane, for example, many people deal with
redundancies and exam stress. However, this EEA has allowed us to deal with stress in certain ways.
Fight or flight is the idea that people will either, fight, which means that they will be offensive in their
behaviour and deal will the stressor, or they will flight, which means that they will be defensive and
run away from the stressor and not have to face it. Depending on personality types people will do
either one of these. However, this is different when dealing with cortisol and chronic stress, the HPA
axis (Hypothalmic pituitary adrenal} is involved as well as the parasympathetic nervous system. This
system take place a lot slower than the sympathetic nervous system. The parasympathetic nervous
system deals with chronic stress. The process which takes place is very similar to dealing with chronic
stress, the hypothalamus is stimulated which sends a signal to the adrenal medullary gland in the
kidney and cortisol is released. Cortisol converts glycogen back into glucose and therefore meaning

that the glucose is converted into energy for dealing with stressors. However, the glucose continues





to increase the heart rate and increase the blood pressure. This means that chronic stress can
eventually lead to illnesses. One illness that is common within people that suffer from chronic stress
is cardiovascular problems. This usually means that problems occur within the heart and sometimes
heart attacks. However, many people believe the view that stress and illness could be the other way
round. For example, people may be stressed because they are ill rather than people being ill because
they are stressed. Chronic stress can also affect the view that people have of themselves, for example,
stress can lead to an extremely low self esteem, furthermore, severe stress can lead to people
becoming extremely depressed and suffer from anixety. This is because they believe that if they are

chronically stressed there is no way to escape from this.

6b) Over the years there have been many ways in which stress can be dealt with, one of them is the
idea of using Beta Blockers. Using beta blockers means that the receptor sites on the post synpaptic
membrane are blocked meaning that no neurotransmitters can attach themselves to the receptor site.
This means that people will not experience certain feelings or have outward effects of stress. There
are two types of beta blockers available, the first is a non-selective beta blockers, an example of this
is propanolol. The idea of this is that the beta blocker can focus on more than one site of the body at
once, meaning it effects the heart, liver and kidney. The other type of beta blocker is selective, an
example of this is atenolol. The idea of a selective beta blockers is that it can focus on one area of the
body, such as the heart. An advantage of using beta blockers for gareth is that they will reduce his
heart rate meaning that he will have lower blood pressure, this could help him deal with the stress as
illness can often lead to more stress. However, beta blockers are not prescribed to deal with anxiety
as they only mask the physical responses to stress and do not tackle the emotional side to stress. Beta
blockers are seen as being effective in musicians, for example, a study was carried out on 2000 US
symphony orchestra where they were ased whether they take beta blockers to improve their
performnce, 27% said they have taken beta blockers before and 19% said they take them on a daily
basis. This study supports the idea that beta blockers do help with dealing with stress, and therefore
could be used by Gareth. Another disadvantage of using beta blockers is that it has been seen in the
pass to cause adddictions as they are addictive drugs. This is quite a significant disadvantgae because
it does not help dealing with stress becaus they only mask the outward effects of stress. Realising that
having an addiction could then cause further stress which could lead to iliness. This is another reason
why Gareth should not use beta blockers. Another method of dealing with stress is through Stress

Inoculation Training. Inoculation comes from the scientific term of giving small samples of something





to someone to help them deal with stress or a disease. Vaccinations are similar to SIT as it allows the
person to deal with small doses of it so they can then deal with actual disease when they get it. SIT
basis its ideology off this theory. The therapist talks to the person who is dealing with stress and finds
ways in which the person can deal with it in small doses so they are not under even more stress. The
reason for this is so the person has control over their stressors and has certtain techniques in which
they can deal with the stress. An advantage of this for Gareth is that it allows him to deal with small
(acute) stressors he has to deal with on a daily basis. For example, it allows him to deal with the new
responsibilities of his new job. However, one of the disadvantages of SIT is that it can be quite
expensive as it a trademarked type of treatment. This means that the stress could be amplified if he
feels the training is not working as he is paying a lot of money for it. Furthermore, SIT takes up a lot of
time as it is does require weekly sessions. However, one advantage of SIT is that there are cases in
which the training has worked and has helped a lot of people deal with stress in the past. Another
disadvantage of using SIT is that small acute stressors can sometimes be amplified and lead to a major

stressor which can cause damage to someones health.
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6. Stress

(a) Gareth has got married, moved house and started a new job all in the last few
months. His new job gives him much more responsibility but he needs to work
longer hours and has a difficult commute on public transport. He has been to
see the doctor as he is experiencing anxiety, increased heart rate and blood
pressure and is having problems sleeping.

Describe two explanations for stress. [5+5]

This question asks for AO1 (description of two explanations of stress).

Credit could be given for:
e This allows candidates to choose from any of the explanations of stress
that they have studied. The specification identifies the following:
— Biological explanations: adrenaline; evolutionary adaptation; stress
genes.
— Individual differences explanations; hardiness; self-efficacy; type A
and type B personalities.
— Social psychological explanations; daily hassles; life events; locus of
control.
e Any other appropriate explanation.

For each explanation:

Marks AO1

5 Description of explanation is thorough and accurate.
There is depth and range to the material included.
Effective use of terminology throughout.

Logical structure.

Description of explanation is reasonably detailed and
accurate.

There is depth and range to the material used but not in
equal measure.

Good use of terminology.

Structure is mostly logical.

1-2 Description of explanation is basic in detail and accuracy.
There is depth or range only in material used.
Some use of appropriate terminology.

Answer lacks structure.

Inappropriate answer given.
No response attempted.
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(b) Gareth’s doctor suggests the use of beta blockers as well as stress
inoculation training. With reference to Gareth, assess the strengths and
weaknesses of these two methods of modifying stress. [15]

This question asks for both AO2 (application to Gareth) and AO3 (evaluation
of ways of modifying stress)

Credit could be given for:

¢ The question specifies the two methods named in the specification.

e Reference to any other methods can only be credited if included as
evaluation of the named methods.

e The focus of the discussion should be on the strengths and weaknesses
of these methods (AO3) for treating Gareth (AO2).

Evaluation points could include:

— How effective each method is: strengths and limitations of the ways
of modifying stress

— Supporting evidence (and the strengths and weaknesses of this)

— Comparisons / contrasts between the effectiveness ways of
modifying stress

— Theoretical basis for the effectiveness of each way of modifying
stress.

e Any other appropriate evaluation point.

AO2 marks could be awarded for

e Direct/ explicit links from the evaluation of the methods to Gareth or to
the symptoms described in the scenario

e Suggestions of appropriate treatments for Gareth / the symptoms
described in the scenario

Marks AO2
5 e Details are accurate.
e The evidence used is well-chosen and applied effectively.
e There is depth and range to the evidence used.
e Effective use of terminology.
e Clear reference to Gareth.

3-4 | e Details are mostly accurate.
e Appropriate evidence used and applied.
e There is depth or range to the evidence used.
e Good use of terminology.
e Reasonable reference to Gareth.

1-2 | ¢« There may be inaccuracies throughout.
e Exemplars are described but not applied or have weak links to

the question.
e Basic use of terminology.
o Reference to Gareth is superficial.
0 e No evidence included.

¢ No attempt at application.

18
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Marks

AO3

9-10 A thorough evaluation made of the strengths and weaknesses
of these two methods of modifying stress.
Structure is logical throughout.
An appropriate conclusion is reached based on evidence
presented.

6-8 A reasonable evaluation is made of the strengths and
weaknesses of these two methods of modifying stress.
Structure is mostly logical.
A reasonable conclusion is reached based on evidence
presented.

3-5 Basic evaluation is made of the strengths and weaknesses of
these two methods of modifying stress.
OR
A reasonable evaluation is made of either the strength or
weakness of two individual differences explanations of
modifying stress.
Structure is reasonable.
A basic conclusion is reached.

1-2 Superficial evaluation is made of the strengths and
weaknesses of these two methods of modifying stress.
OR
A basic evaluation is made of either the strength or weakness
of two individual differences explanations of modifying stress.
Answer lacks structure.
There is no conclusion.

0 Inappropriate answer given.

No response attempted.
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6a) One of the main explanations for stress is the biological explanation. AdLena.IlnLeres acute
stress as it provides a quick burst of energy to engage the stressor with a fight or flight response. The
sympathetic nervous system is stimulated as the hypothalamus detects a stimulus. The hypothalamus
signals the adrenal gland excretes certain neurotransmitters to deal with the stress. For acute stress,
adrenaline or nor-adrenaline is secreted. Adrenaline causes many physiological factors to engage, for
example, the heart rate will increase, blood pressure will increase and so will other factors such as
sweating will occur. This prepares the body for certain stressors (fight or flight response). This idea
comes from the EEA (environment of evolutionary adaptiveness) explanation where by it is believed
that we have learnt to adapt to certain types of stressors. For example, millions of years ago, humans
had to hunt for their food and therefore may be subject to certain animals that may attack them.
However, the stressors nowadays may be more mundane, for example, many people deal with
redundancies and exam stress. However, this EEA has allowed us to deal with stress in certain ways.
Fight or flight is the idea that people will either, fight, which means that they will be offensive in their
behaviour and deal will the stressor, or they will flight, which means that they will be defensive and
run away from the stressor and not have to face it. Depending on personality types people will do
either one of these. However, this is different when dealing with W the HPA
axis (Hypothalmic pituitary adrenal} is involved as well as the parasympathetic nervous system. This
system take place a lot slower than the sympathetic nervous system. The parasympathetic nervous
system deals with chronic stress. The process which takes place is very similar to dealing with chronic
stress, the hypothalamus is stimulated which sends a signal to the adrenal medullary gland in the
kidney and cortisol is released. Cortisol converts glycogen back into glucose and therefore meaning

that the glucose is converted into energy for dealing with stressors. However, the glucose continues
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to increase the heart rate and increase the blood pressure@is means that chronic stress can
eventually lead to illnesses. One illness that is common within people that suffer from chronic stress
is cardiovascular problems. This usually means that problems occur within the heart and sometimes
heart attacks. However, many people believe the view that stress and illness could be the other way
round. For example, people may be stressed because they are ill rather than people being ill because
they are stressed. Chronic stress can also affect the view that people have of themselves, for example,
stress can lead to an extremely low self esteem, furthermore, severe stress can lead to people
becoming extremely depressed and suffer from anixety. This is because they believe that if they are

chronically stressed there is no way to escape from this. @

6b) Over the years there have been many ways in which stress can be dealt with, one of them is the
idea of using Beta Blockers. Using beta blockers means that the receptor sites on the post synpaptic
membrane are blocked meaning that no neurotransmitters can attach themselves to the receptor site.
This means that people will not experience certain feelings or have outward effects of stress. There
are two types of beta blockers available, the first is a non-selective beta blockers, an example of this
is propanolol. The idea of this is that the beta blocker can focus on more than one site of the body at
once, meaning it effects the heart, liver and kidney. The other type of beta blocker is selective, an
example of this is atenolol. The idea of a selective beta blockers is that it can focus on one area of the
body, such as the heart. f using beta blockers for gareth is that they will reduce his
heart rate meaning that he will have lower blood pressure, this could help him deal with the stress as
illness can often lead to more stress. However, beta blockers are not prescribed to deal with anxiety
as they only mask the physical responses to stress and do not tackle the emotional side to stress. Beta
blockers are seen as being effective in musicians, for example, a study was carried out on 2000 US
symphony orchestra where they were ased whether they take beta blockers to improve their
performnce, 27% said they have taken beta blockers before and 19% said they take them on a daily
basis. This study supports the idea that beta blockers do help with dealing with stress, and therefore
could be used by Gareth. Another disadvantage of using beta blockers is that it has been seen in the
pass to cause adddictions as they are addictive drugs. This is quite a significant disadvantgae because
it does not help dealing with stress becaus they only mask the outward effects of stress. Realising that
having an addiction could then cause further stress which could lead to iliness. This is another reason
why Gareth should not use beta blockers. Another method of dealing with stress is through Stress

Inoculation Training. Inoculation comes from the scientific term of giving small samples of something
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to someone to help them deal with stress or a disease. Vaccinations are similar to SIT as it allows the
person to deal with small doses of it so they can then deal with actual disease when they get it. SIT
basis its ideology off this theory. The therapist talks to the person who is dealing with stress and finds
ways in which the person can deal with it in small doses so they are not under even more stress. The
reason for this is so the person has control over their stressors and has certtain techniques in which
they can deal with the stress.~\An advantage)of this for Gareth is that it allows him to deal with small
(acute) stressors he has to deal with on a daily basis. For example, it allows him to deal with the new
responsibilities of his new job. However, one of the disadvantages of SIT is that it can be quite
expensive as it a trademarked type of treatment. This means that the stress could be amplified if he
feels the training is not working as he is paying a lot of money for it. Furthermore, SIT takes up a lot of
time as it is does require weekly sessions. However, one advantage of SIT is that there are cases in
which the training has worked and has helped a lot of people deal with stress in the past. Another
disadvantage of using SIT is that small acute stressors can sometimes be amplified and lead to a major
stressor which can cause damage to someones health. @
= =
S
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Sticky Note

AO3



Sticky Note

AO2
Link to details of Gareth.



Sticky Note

AO2 link to Gareth.
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AO3
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Link to Gareth.

AO2/3



Sticky Note

AO3



Sticky Note

No credit for description as this is an AO2/AO3 question.
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Sticky Note

Answer would have benefited from a conclusion.



Sticky Note

AO2 link to Gareth.



Sticky Note

Total 4 + 7 = 11



Sticky Note

AO3 7 marks
Reasonable evaluation of strengths and weaknesses of methods of modifying stress.



Sticky Note

AO2 4 marks
Appropriate evidence used and described
Reasonable reference to Gareth.
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6.

Stress
(a) Describe two explanations for stress. [5+5]
(b) Gareth has got married, moved house and started a new job all in the last few months. His

new job gives him much more responsibility but he needs to work longer hours and has a
difficult commute on public transport. He has been to see the doctor as he is experiencing
anxiety, increased heart rate and blood pressure, and is having problems sleeping.

Gareth’s doctor suggests the use of beta blockers as well as stress inoculation training.
With reference to Gareth, assess the strengths and weaknesses of these two methods for
modifying his stress. [15]










Write the two digit question number inside . L
the boxes next to the first line of your answer Answer Controversies vy
Ysgrifennweh rif dau ddigid y cwestiwn yn y Gadevrel
blychau gyferbyn & llinell gyntaf eich ateb Ateb yn wag

7. Efued gURRING o impieimeni<cl by e Retlin B
RSUCAOGICOU._JOEty (BPS ) by efpcgl cCmmATHees
(et deciclad opdh diseuss the gUILELINGS ) <G #hert
piChoidglcad (eyecich (on e ebniad oncl fu Umael
Ivoum to porttapendd inva(ved wm ecci stedly .

it caud e eruedd Yiov g0l teseuch NVer rtuie 10
Sy SOy - F em ole vh MU{g N € Sitely an
wheffer autrartty (fgure Semiry) ) couud arpeer e
beravicur OF pecple el mongy @nicad 5505, The 8
POALpCMD_ctied pSychelogical Yarm (sneugh |
e Ui TECoAne] ond [0pear i & Shaun 4neu! Sen u
A2 POHUPAAS cand delnunsgaey o 'shale 1o
e (elined (A8 AUUHRESING Shaw VI, Sind op
SWEAHNG O 3 = 4P ZorHc s QYT e cetpg, aat
Na_uncat el Se=res ), protrey Grhvced
(Sue uo fhad g d@eeprion, yire_portta peru
were no- falel flre #rrl. aung oF e stucly c’/nc/(
aecered wio ARG Ho “they, were celpnde/i
w%’/gm@r: 1o fre (fouee ) \ecyrer . pasprte brtaqﬁm
Shia el | +he peper R NS o/ﬂ
nulgiom I Stuely Shawid_ncy {:g,OHh Paunne) 1o Setsy Serry,
Mg B beeise the Cing,s eV ickacl evpdlence Ptoof F(7/
e Act _ald CK’!’MW’D ho;(‘?f’ff s et Gef P’V)OM dwfﬂcv
wael (egre Wert Cytple of hurine, otirers

Ony Ore “peggla—ia—peel U cply_aud JeCh horin,

Howerer, Miligems Stucky did mean be hed ¢ say serre, |
1 cesenge_ay iUt milgrom pefe geine efhdced |
;fﬁ CUMAL bne he dich pot pls e cr A rem ond\ e 4d
(OO e - FU_@em@e  apser e Srucle, tultyiom
AehLecA 11re. pOMAgoryS i e +(UC pupnl_op 4o SHy
| o0 pEIene pot el porcpats {CUNA He -So-a eV
@15441{&1{”\(:4 cu St Wl e, fo poespeeThe. |

ECHB7A7 TR

i






Write the two digit question number inside

the boxes next to the first line of your answer Answer
Ysgrifennwch rif dau ddigid y cwestiwn yny
blychau gyferbyn & llinell gyntaf eich ateb Ateb

POVTLNCIAS OGO 1R [ 10w HCws cuf Citiivg o

e Stuly  vierercre Tl gradbiescre:
PP TO T oGP & feerbectmcAater?

| =thee |
i

_ e Steergths go effuacid GAUNY gre TpaiA v prestgUd
o UNMVIS houm aeusSed i pp el cgiced_redectth.

BOC evoMple , 16 only 00SeVe (e Quast) o

nct pe Cly_ponjpudette o vorinble ¢y it wouddd fae
More MU - Toreyiryple, oMl I Stucly_en meMerald

olo privesrion WoUd hAVE e it Upefjical 1y ¢ro pauce

ey (1 thore. chuolren gropl Hel wctres Yot So
O 5 onae effutad 1O peeiire. oftecHs. 150 4 it vondd

e SCUA ol ¢ edhlcal gludeUpey were et ool

Imere wnefinecod Studies weed be @rieed i,

i the dihea honcl , efhicad guudeUunel e be cuuolouUec!
orel since frey ore decitlocd qpen by QAU CMMNTed)

weliclidey e epnicad giyde lines oy us oaridel gy
dgrasp op pecpl Hretl Wene  Wiging e(CLyrs. ool Wi ST
SCire PSLORCIECATS et Ve a Jiledl,; ad unefu e
eprers  way ot o mdy not UKttt the oficeed
COSTS were  chef@menicil . BPGHOr MSUL csa_cnuwved
WA Etc et cogy e a )Hucky @ Trad a gs IO
WAy pot- nokte o eHucad @3t (for cmpe, a peviitpt
WAY be AVe N Q Sty elr fe HNe b vreld SHor _
S we . o
weum il afer e Stuedy ) CTJC&)—CWUQQZAHJ—%@@‘%#(}UQ&VE

ot ety be pudged oy efivta nmatfees. |

JRrSUChAOTIOT Cent ety S‘p@&lép&z’f’ el OITS Op
e Study Cin tefmd op “lftzi'qfl@cf S LU en

i ol e soutd 1d PR g feCHVE. s quedtond the. |

LA Lwrire cut e UL (NP LTI adfucly

for exem@e, (n kchIberg erudy an ol deyeAlprent |

wicler Sacredy ) but magy not jeiciu Of 9Htal issites

RN

710N






Write the two digit question number inside ]
{

the boxes next to the first line of your answer
Ysgrifennweh rif dau ddigid y cwestiwn yn y Answer G b
blyehau gyferbyn a liinell gyntaf eich ateb Ateb yan(

e crese n e Study weqete tohlverg ojol net~ - |
W) (PO NG plocectues, -

N CONCRATUN |, SO Ny g (e LN Recedon oned [ eu o7
HhOM_gaod (el oo peve eding t0 o, (e
ore SA(Y) onel ot uceld dssuar doy dot moot-er I
e befectia 19 SO0 A4 OMAWRTIN e W pUCeHens , L
POt —Srette M@, O feredpons Bl 1o
VetidCcad grutleUr s enly @ttt end Ut tre poenrial
PR3 Cn - HOW RO, +1JS Steyement s {rpasponsiole
|0 good eiectTh onel (elecreiress gncut el eol{cty i
e et guioteldpes 10 redluce harm o op +€
GuId UpOs e been bideen (U e purpose of fre

| (RO 10 ACVCMICACRITERS it ont in fustire (afuce
SUCH eHUc A (HES . ard SO, WISt eFutad guide ings
holre Sene. dSCpium @&l yrey ore am pertervt onol

the efhrced (OSIS Op conclucrireg #secich shouict e

4 OCCOUm fe ch €01 1

EIRITNF HPAYUS

L











Write the two digit question number inside |

the boxes next to the first line of your answer Answer
Ysgrifennweh rif dau ddigid y cwestiwn yn y G
blychau gyferbyn & llinell gyntaf eich ateb Ateb v

6 7 Concn. m/\g} Naeocemn WA flas L}/U/( Wi+ (omaldwr QU4 o _Lﬂu%_,= i
diipevent Wy ek Yok ﬂ/\&,u el e outcome . The foutid peasty l
wu U Un_ Uiy (LA \(\A,w\fr oo freaed il . b
plrt e Wimmn fa‘s@/w\ het Qacth (UL Pepple One ﬂwwtﬁq;t LJTH.
\nwm «\wi'/s a obaLeiton, Wwealfa cnct b Bk e discuriainiited
LLC%MV&\, Huicol (oS % Condig ({mzﬁ/ PRt W (n pandGieriiold

ﬁ

va L3 I Ounmﬁ(,nf Cln_ e e pw‘im on 6 Mo 6 An énaig
L3 }J;MM"}@\OLL 0ok Beaeieh On SoWLewe YO \/.WAMX[L
SUCHEA dt<pike (fudoing w16 emd Tua 30.0P08s Reqotn
g Qmmms SEQIE Bk \mj (\(uunﬁj\ U (\L MY 0 \o@w/isaad,
J@%m\e*’w\ JmL N DYy N \\/\(UN\ net Lw» %mu a1 ke
\A&Xs’\m (JJ}AM// CNAMA ST SOW\'; \\/mm/\ (Un o, [ Gm
ooing 0 ddSups fzchlﬁ/{ﬁmm C/’*\ d__d{iacd L/[/;Lm 20 oLﬂ hcuine
i A J g
I L A Gt/vt‘ dw/ws

The ednicon g dhi e ,{-”fm pubtished b The Brdda WcUUn eyteal
Vo 009 . Th ouadues G on adiiiuig, Yo peleaCin o
(\/u/\ prowi gy Gt %z:w? LudLGenin ke guore o T fiak
\wvm pepgees = {ua MR IR el Sty Al oU&LviMimﬂm s
@Mjmwu ho M cdemd ad onm Pve  Serowd, {5 (obapieinte , Uk
Slaauel _tupdedn g T4 W(Mo“)le Ch gt o C{‘!\(MU‘HILC: e
MALLAUIA B2 n NADROMATI Uy g SJMfm/iei 11418 Mf\wr\mum
O dhapd s 0 _dles Oad Umdinkoned [l baltuge g
Putaa W (a Mg g -ﬁ‘/\‘”i)&ﬁung\x’wf(”a’r(/\ thin U o NG
mﬁx mionad avoucier T OndALn ne o T\X Mémach L/

m,/mv ot 10 P\Q'i’m:?,m_/gbw Mued  Thone  ppe ﬂ(/\f ({}zru:U,w&/L A

| ddsadwentaue o I Q{MMW O Mt At e w(‘su{/& ehia gt
oie o Laga Olli deasion 16 onforea \\wwcmwv(ii\i

St bcimensg  Mos " —,;rl ILACAcarn  hrera Ay mwm?m Sery

I
}J(_(va \M i #

N E VS VI /I e YO VO LV 2 %AM dar g G foy w\fw&h
U SALpoMIngG. efiatiad (v 0 facecin ’M/mem/’zb@v
W At Ong m,\wpwm% el A 1S 04 i qu\ o Teet

) i

8702






Write the two digit question number inside
the boxes next to the first line of your answer Answer

Ysgrifennwch rif dau ddigid y cwestiwn yn y

blycha

u gyferbyn & llinell gyntaf eich ateb : Ateb

Leav
blanl

Gadew *

yn we

_ %\ruay Wnow fwaa e Neae e s 0\ Moy, DV)UC&M (n g Lotferan,

flm (A l?cﬁr}u (e - B P’\‘CMC»\OCMGL WO\ {SCLaA D

, : 0
il lhorpa on o cllent. y Mg Jtucte to e chLUM

o kel [ongedting  efadea i Wk 0Nl Oﬂ/Lw ULWM

5‘&6@\’\%0{}, et e e dlims V\/\%\, Uiwdt _wevg iy \qem&mcymi

?SU C\/x?ﬁ\j)caxz/g ﬂmﬁ hos bee n el ¢ Pq(,il( l/chcOm:w et

pm‘a\;} nek lpe  Comidoped 24 OL ok Wi lgzw{%% \aciedy, -

The ot @d\f{‘rbm%m el RS ouidiuws 1 fags TUU\ clieu)

(O equoA oIt ) (OATC P LT . ln 008 an bl s
added 1o Do Guidbie Tt clioumed s peden Svogiel e

ARV M o bl Aot (seom N Mnmﬁ\ U e wﬁwﬂwl fc«:

(R UYTY, o O\ pw’r\*m\iw \/\\’\Q/\_\‘i/\ L\M)\/LL{‘,L e

prellid (U ul 10 Osm/}\ (A et Ot oy Mool

{ _
M LA \Q(%m\/\?ﬂ@qm% b _Lm ieer pencich ﬂv&f o Qet

7 A .
A Ao U\ 5] \Q-P/II\PAM OMA_ficact (J» §l’(i6f‘(/L OM(?TA,‘ 2

T(m WMol @ﬂw with e SFUKWLEM L sﬂpaarn md Aouici .

m rculd, T Roa Qo dlines (o GAAGW f_ O 1edet s Che fO

tpndaats el (o (n SOeAy m\) (nAL m/matm

@rmvv’rca%/aaw o fle Linicur ity c/a, CONCLLLLA] ey fegocyela

e _noxs md\fmmc;z_ o N qpupellids tun lae Ston (A g e i
O ng vigrod (Limlxemm Mok peleen o N/Wr(:m AU fr

o et ddcd o %\w N &Wﬁmg émm . QM mucuﬂcg;a o
ot N Undw Lded Suda WOt o Senie ¢l ,\?w Worle A ey

L Walue WA b bg_mhwjdﬂu/\a )f()(/fr‘Hi,CJ‘ ‘”Lm DU(,M Mzaf/v{ﬁf\

(V7% AQM onYeem ﬁf\o‘t ml' - lovftdende Ja L, q cw(edt;a/bmgm

I taa lae ‘“MA.J— {lne Mo tod I (W (Uatieel Uala Nl POXN"
(T%rm{\ .l toa lee Scoan U WX A { Rcw\mi-

44 j(:\/(\fﬂ\,\u’t’) /i/uum,:-umm AM N weld Ho e\o;«/h 0wl 04

\merwcl o (Geade On gMachng pb & Dpepesd P I/Lry)a‘h:/)( Y

TuLy d/uj;l Achoy _aducrteton, ) (é@M(‘UUHun - Mfeseinte fo

A tngivl il © Thudt 4\1/\0 Cre (Lhpla 16 WWAVQQA%?UM Locun

&(xmwﬁ\/umv(\f g drentseind flagd funm /Mu{f] ac ¢ lincuwn .

Nl bo 00 paons crect Gk Mia couitd he  peuemed 0 (A Coulel

. w

%






i
ch

Write the two digit question number inside

the boxes next to the first line of your answer Answer
Ysgrifennwch rif dau ddigid y cwestiwn yn y :
blychau gyferbyn & llinell gyntaf eich ateb Ateb

by e oduie - OV el(umpl, Yileinn port n G g\pmmn/w&wﬁvt%

VA Co C
CHA . $ia 0 waen locgun Gy sCannecl, O bfgua, mﬂﬂi}mg/ai;l/ﬁ?

i MA ot oo M acl. Yo Mt mwamcm@m\{ys heiloa, %;m,:f

Mwm‘v\ Suahs Ui WU ML (‘u)?ﬂ o g XUMUA‘ Sae stuclles

[ ‘Qom\ (;\r\vgwl o, aTer  poseptiee (43 78] \Mfwcdzﬁﬂﬂimomf/\'

foy e flaout ’(\m ey (O Uhe . A \ﬂ,e,y\.?,«‘r]' Kn»/ SO 240, el

o Un ‘wwt Yl “w(m WoAe Orch - f)\f?‘ffd/‘ax | LMA et e

(]M@(LLMM hlp With T henin Y on U/\rl xmwu/\ ohd A O

U
:L@urlm seon oo MAlr oS f)Wﬂ(ﬂM(ﬁ \m(,w Th 6x¢_cnvdied

i . \
et ” gl W See Yool i [k o \‘\W{‘MMW chph

W Aol o Ser Tl pegtldtn . [t als0 sihowed faut theee on -

Velugd U NaTi @umw M nek Wowe  been Clpacl! peorple

hd wert nder T V\AM\/\/O? ok ufa o ?‘YL},. g]/\(ﬂ)\fw\z‘/\(ra

[olitie beresd fou fle ndividyal

M\j&@[&\fﬁ%ﬁ&%\& N AV AT TN VT ncﬁ etintéol_Ouadiines mwda,

prowe g o leredit to Socicky, 0A Sei e U /u/itaom;m

'SHuAu\\) Aot . Mot (ot Wumaa UM r\jmcw lon L 1930V
Aid oue el fec :% T AHLO(M a MH{{ Allert 1o tuke vlace.

Desplte A wle ¥ Algert mim\} unethit el At aAlOWLd foo U0

ﬂﬂw/m/%ewn t6_loe  (Brouicel Eij‘;({W&CLH( Afrenstiisaticn Cnd

g\ ootn *(\fw,rmgaﬁ S&j“—@mﬂ e dlnoam bl Satics a  On (MU(‘M{’L%& G
1

L")

Sociokn o Wb didomn puss e _Lnlopreine, op o plolnicr - Huentn

P\\V/\{)ﬁi’jﬁﬂ/\. Nap lenred oy neoatie die o mifﬂﬁ\”} waed on 10684

T .
[ “epend rw?)“ hotninelpl  wem Win M Ve of ploekvie. sheien . s
Lina 6 (RLI P un \0dOuts  JOUCR o A Py -y ]

avene  aleoineliCo A %n:,l,m gantivelep sV Use g () rwd,

Ruead Vaomden Ny Sfoke . Taa py\ﬁ\m ot Ak Jagiafna ?;,,,nwm

GMMe fur G 6949 ol psyciile sjm,d dind proving Qo CEiersdst cf
{ :

Orsn ek A ERx AN
i

Al contimien (M2 afed o unenYind (hiid efncad mm,i,um

Gy em;u% L‘/}(\AA‘(/UA/\A ok ,5210 NG Loin 40, G wmm S@/wemoz
NG J%MAM?’(- tin MA ORLAILR M/L(\mwﬂ;}m Jable Albect s

‘ g






Write the two digit question number inside

the boxes next to the first line of your answer Answer [[)?aar\,’;
Ysgrifennweh rif dau ddigid y cwestivn yn y Gadewr
blychau gyferbyn & llinell gyntaf eich ateb Ateb yn wa

-

‘;g;gm Caitisecl {:(/ b{?n\g Medhicut W Noa G AN ﬁuz“wr’fb%-acg,z

1 p_qum:t% . In ;’\M&w Ofpi iz (NN %em{é () t%i Wamen
Mank 0l W fo(Uved ohg iapMing neled e Ju
Waoeh oy Usad Tan oS qeeoplil - M oo on e
{peAdmena OO “Chotd smtvtn nemg DML § a/\még scmﬁ:\) S Sy 1)
M v Con fredt Y0p to B fegm Ao On enel . L agaes (ks
U hentdit 4 Loul ety i puas B Lopel fun Jle
Ny L UA M/rvp/pfu‘ou~ Ve Omeuntch hgrma St Sfoy af
wau;u P e























SECTION B
Controversies

7. Ethical costs of conducting research

‘Good research means never having to say you are sorry’ (Reason and Rowan,
1981).

With reference to psychological research, discuss the advantages and disadvantages
of having ethical guidelines. [25]

This question is focused on applying knowledge and understanding of scientific
ideas, processes, techniques and procedures in theoretical and practical context
when handling qualitative and quantitative data.

This question is synoptic and, therefore, the material used by candidates in this
debate can be drawn from any area of Psychology. Examiners should expect
candidates to draw on psychological concepts, research, evidence, studies or
theories from any approach studied in their course.

AO2

The important factor here is that the evidence used is appropriate and linked to the
comment made. This is a question which is synoptic in its nature and therefore the
material used to support the debate can be drawn from any area of psychology.
Credit could therefore be given for any accurate psychological concept, evidence,
research, study or theory from any approach or perspective.

Exemplar content:

Details of ethical guidelines

Reasons for having ethical guidelines
Details of any unethical studies
Details of any ethical studies

Mark AO2

9-10 Evidence used is well-chosen.
Details are accurate throughout.
There is depth and range to material.
Effective use of terminology.

Clear reference to the statement.

6-8 Evidence used is appropriate.

Details may have minor inaccuracies.

There is depth and range to material, but not in equal measure.
Good use of terminology.

Reasonable reference to the statement.

3-5 Evidence used is not always made relevant to comments made.
There may be significant inaccuracies.

There is depth or range only in material used.

There is some use of appropriate terminology.

References to the statement are basic and/or superficial.

1-2 Evidence used is not appropriate to the comments made.
Very little use of appropriate terminology.

No reference to the statement.

o
°

Inappropriate answer given.
No response attempted.
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Candidates should consider both sides of this argument and it is also
necessary for them to make a judgement.

Support for this statement could include:

The need for ethical guidelines / ethical principles, in particular consent,
protection and confidentiality.

Examples from research of either ethical / unethical work to back up these
arguments.

The power of the researcher.

Reference to the public perception of psychology / the need to viewed as a
science.

The argument against this statement could include:

Reasons why some ‘good’ research does break ethical guidelines.

The need to conduct research into some areas.

Examples of either ethical / unethical work to back up these arguments.
Psychology on television (reality TV shows etc.)

Marks AO3

13-15

A sophisticated and articulate interpretation of the issue.
Thoroughly well developed and balanced discussion.
Evaluative comments are evidentially relevant to the context.
Structure is logical.

An appropriate conclusion is reached based on the evidence
presented.

10-12

A thorough interpretation of the key issue.

Discussion is well-developed and balanced.

The evaluative comments are clearly relevant to the context.
Structure is mostly logical.

A reasonable conclusion is reached based upon the analysis of
evidence.

7-9 A reasonable interpretation of the key issue.

Discussion is reasonable but may be one-sided.

The evaluative comments made tend to be generic (not in context).
Structure is reasonable.

A basic conclusion is made based on the analysis of the evidence.

4-6 May be some misinterpretation regarding the key issue.
Discussion is basic but creditworthy.

Answer does not move beyond assertions.

Structure is basic.

Any conclusion may be contradictory with the flow of the answer.

There is no engagement with the issue beyond simple rewording.
Limited discussion or no sense of argument.

Limited or no evaluation

Answer lacks structure.

No conclusion.

Inappropriate answer given.
No response attempted.
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Sticky Note

AO1
Detail / accurate.



Sticky Note

This whole paragraph discusses the ethical issues raised by Milgram's study rather than discussing the advantages and disadvantages of having ethical guidelines and therefore is not relevant.
Not clear that the candidate fully understands the issue / questiion.



Sticky Note

AO3
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Sticky Note

This example could be clearer.



Sticky Note

AO2 use of example.



Sticky Note

AO3



Sticky Note

AO3



Sticky Note

AO3 



Sticky Note

Clear, concluding AO3 point. Overall an effective paragraph.



Sticky Note

AO2 appropriate evidence used to back up point.
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Sticky Note

AO2 3 marks
Evidence used is not always made relevant to the comments made.
Reference to statement are basic.



Sticky Note

AO3 5 marks
May be some misinterpretation of the key issue.
Discussion is basic but creditworthy.



Sticky Note

Total 3 +5 = 8



Sticky Note

Conclusion.



Sticky Note

AO3



Sticky Note

AO2 link to statement.
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Pencil



Sticky Note

Focus on question.



Sticky Note

AO2
Link to statement.



Sticky Note

AO3



Sticky Note

AO3
Advantage identified.



Sticky Note

AO2



Sticky Note

Ethical issues identified but not clearly 'advantages and disadvantages of having ethical guidelines.
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Sticky Note

Good debate phrase.



Sticky Note

Link to the statement (AO2) but not completely clear.



Sticky Note

Again, candidate needs to explain how this is an advantage of having ethical guidelines.



Sticky Note

Candidate could make it clearer how this is an advantage of having ethical guidelines.



Sticky Note

AO3



Sticky Note

AO3 interesting points.



Sticky Note

AO3
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Sticky Note

Could be a stronger link to guidelines here.



Sticky Note

AO3



Sticky Note

AO3 (conclusion could be clearer).



Sticky Note

AO2



Sticky Note

Link to advantages and disadvantages of having guidelines not clear.
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Text Box



Sticky Note

Total 13 /25



Sticky Note

AO3 8 marks out of a possible 15

A reasonable interpretation of the key issue.

The evaluative comments made tend to be generic and not contextualised.

The structure is reasonable.
A basic conclusion is reached.



Sticky Note

AO2 5 marks out of a possible 10.

Evidence not always made relevant to comment.
There is depth or range only in material used.

There is some use of appropriate terminology.



Sticky Note

AO2






















Ethical costs of conducting research
‘Good research means never having to say you are sorry.” (Reason and Rowan, 1981).

With reference to psychological research, discuss the advantages and disadvantages of having
ethical guidelines. [25]
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8. Non-human animals

Using examples from psychology, critically consider the use of non-human animals in
research. [25]

The important factor here is that the evidence used is appropriate and linked to the
comment made. This is a question which is synoptic in its nature and therefore the
material used to support the debate can be drawn from any area of psychology.
Credit could therefore be given for any accurate psychological concept, evidence,
research, study or theory from any approach or perspective. Exemplar content:

Guidelines for use of non-human animals in psychological research
Ethical guidelines

Examples of unethical studies (Harlow, Seligman, etc.)

Examples of ethical studies

Mark AO2

9-10 Evidence used is well-chosen.
Details are accurate throughout.
There is depth and range to material.
Effective use of terminology.

Clear reference to the statement.

6-8 Evidence used is appropriate.

Details may have minor inaccuracies.

There is depth and range to material, but not in equal measure.
Good use of terminology.

Reasonable reference to the statement.

3-5 Evidence used is not always made relevant to comments made.
There may be significant inaccuracies.

There is depth or range only in material used.

There is some use of appropriate terminology.

References to the statement are basic and/or superficial.

1-2

Evidence used is not appropriate to the comments made.
e Very little use of appropriate terminology.
e No reference to the statement.

0 e Inappropriate answer given.
e No response attempted.
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AQO3

Credit could be given for;
e |tis necessary for candidates to address both sides of the debate about the
usefulness of research with non-human animals.

In support of the usefulness of research with non-human animals, likely points

include:

¢ Animals can be used where humans can’t be used

e Greater control over variables (especially environmental)

e Allows the whole process of development to be observed

o May lead to useful applications for humans (eg. Harlow’s work applied to
maternal bonding)

e Behaviourists would argue that the process of learning would be the same
across most species

¢ Animals and humans are similar at a basic physiological level

e Comparisons across species show what humans both can and can’t do — this
is useful in an evolutionary context

Against the usefulness of research with non-human animals, likely points include:

e Extrapolation from animals to humans is ill advised due to differences in
‘preparedness’ (some animals born with certain survival behaviours), the fact
that some behaviour is instinctive and the fact that some types of learning
such as insight learning appears to exist only in humans and other apes.

e Studying animal behaviour in controlled, laboratory environments has no
validity.

e Language appears to be unique to humans.
Ethical reasons.

e Any other appropriate point.
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Marks

AO3

13-15

A sophisticated and articulate interpretation of the issue.
Thoroughly well developed and balanced discussion.
Evaluative comments are evidentially relevant to the context.
Structure is logical.

An appropriate conclusion is reached based on the evidence
presented.

10-12

A thorough interpretation of the key issue.

Discussion is well-developed and balanced.

The evaluative comments are clearly relevant to the context.
Structure is mostly logical.

A reasonable conclusion is reached based upon the analysis of
evidence.

7-9

A reasonable interpretation of the key issue.

Discussion is reasonable but may be one-sided.

The evaluative comments made tend to be generic (not in context).
Structure is reasonable.

A basic conclusion is made based on the analysis of the evidence.

4-6

May be some misinterpretation regarding the key issue.
Discussion is basic but creditworthy.

Answer does not move beyond assertions.

Structure is basic.

Any conclusion may be contradictory with the flow of the answer.

1-3

There is no engagement with the issue beyond simple rewording.
Limited discussion or no sense of argument.

Limited or no evaluation.

Answer lacks structure.

No conclusion.

Inappropriate answer given.
No response attempted.

1290U30-1 GCE A LEVEL Psychology Unit 3 MS Summer 2017/JF
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Sticky Note

AO3
Evaluation points made clearly and backed up with examples / evidence.



Sticky Note

AO3



Sticky Note

Good concluding point.



Sticky Note

AO2
evidence.



Sticky Note

AO2
evidence.



Sticky Note

AO3 
Good introduction to the debate.



Sticky Note

A second topic area for discussion identified.
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Sticky Note

Good debate.
AO3
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Good concluding point.
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Sticky Note

AO2
Evidence for point outlined in first sentence of this paragraph.



Sticky Note

Third point identified (AO3).



Sticky Note

AO2 (evidence).



Sticky Note

AO3
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Sticky Note

Good concluding sentence.



Sticky Note
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Sticky Note

Another key point (AO3) identified clearly.



Sticky Note

AO3



Sticky Note

AO3



Sticky Note

Good use of evidence to illustrate the point AO2.
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Sticky Note

Total 21 / 25



Sticky Note

AO3 This answer was awarded 12 marks out a possible 15.

Arguments made are thorough and balanced. The evaluative comments are clearly relevant to the context. Structure is mostly logical.
A reasonable conclusion is reached based on the evidence presented.



Sticky Note

AO2 This answer was awarded 9 marks out of a possible 10.	Evidence used is well-chosen and effective in support and developing comments made.
Details are accurate throughout.
There is depth and range to material included.
(some) Effective use of terminology.
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This is a very well structured answer. The AO3 points are made clearly, evidenced and explained (AO2) and followed by concluding AO3 statements.
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Sticky Note

Candidate means Harlow - credit as such.



Sticky Note

AO3 
Point could be made more effectively.



Sticky Note
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A reasonable interpretation of the key issue.
Discussion is reasonable but may be one-sided.
Evaluative comments tend to be generic
Basic conclusion.
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Evidence is not always made relevant to comments made.
May be inaccuracies. 
Depth or range.
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8. Non-human animals

Using examples from psychology, critically consider the use of non-human animals in
research. [25]
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A LEVEL PSYCHOLOGY - Unit 3

SUMMER 2017 MARK SCHEME

SECTION A
Implications in The Real World
1. Addictive behaviours
@) Signs of fruit machine addiction include the belief that one is not gambling

© WIJEC CBAC Ltd.

with real money, the development of a personal ‘relationship’ with the
machine and a feeling of irritation if someone else is playing that machine.
Addicts will also play for longer than they planned and lie about how much
money they have won or lost.

Describe how two explanations of addictive behaviours can be applied to the
above scenario. [15]

This question asks for both A01 (description of the explanation and A02
(application to the scenario / to gambling addiction).

Credit could be given for:

¢ Biological: addiction genes; disease of the brain; dopamine

¢ Individual differences: cognitive biases; field dependence; Lang’s
addictive personality traits

e Social psychological: co-morbidity with mental iliness; peer pressure; role
of the media.

e Any other appropriate explanation of addictive behaviours.

Mark AO1

9-10 | e Descriptions of two explanations of addictive behaviours are
thorough and accurate.

Depth and range included.

Effective use of terminology throughout.

Logical structure.

6-8 Descriptions of two explanations of addictive behaviour are
reasonably detailed and accurate.

There is depth and range, but not in equal measure.

Good use of terminology.

Mostly logical structure.

3-5 Descriptions of two explanations of addictive behaviour are basic.

OR

e Description of one explanation of addictive behaviour is
reasonably detailed and accurate.

e Depth or range.

e Some use of appropriate terminology.

e Reasonable structure.

1-2 | e Description of the explanation(s) of addictive behaviour is
superficial.

Very little use of appropriate terminology

Answer lacks structure.

Inappropriate answer given.
No response attempted.
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AO2

Credit could be given for:

e General application of the explanations of addictive behaviour to fruit
machine addiction.

e Specific links between the behaviours described in the scenario and the
explanations chosen.

Marks

AO2

5

Explanation is thoroughly applied to the scenario (fruit machine
addiction) throughout.

The evidence used is well-chosen and applied effectively to
the scenario of fruit machine addiction.

The details / reference to scenario are accurate.

3-4

Explanation is reasonably applied to the scenario (fruit
machine addiction) although there are some aspects which are
not applied.

Appropriate evidence used and applied to the scenario of fruit
machine addiction.

The details are mostly accurate.

1-2

Explanation shows superficial application to the scenario (fruit
machine addiction).

Evidence used but not superficially linked to the example of
fruit machine addiction.

Explanation is not applied to the scenario (fruit machine
addiction).
No attempt at application.






(b) Discuss the strengths and weaknesses of one method of modifying addictive
behaviours. [10]

This question asks for AO3 (evaluation of one method of modifying addictive
behaviours)

Credit could be given for:

¢ Any method of modifying addictive behaviours can be used to answer
this question.

e The two named on the specification are agonist and antagonist
substitution and aversion therapy.

¢ Agonist and antagonist substitution is designed for the treatment of
substance

e Aversion therapy would involve conditioning the individual to make
unpleasant connections with the addictive behaviour.

¢ Cognitive approaches such as R.E.T could be used (e.g. the work of
Griffiths).

¢ Drug therapy could also be suggested to help cope with associated
symptoms such as anxiety.

¢ The focus should be on the strengths and weaknesses which may
include:
— The validity of the method of modification.
— The usefulness / effectiveness of the method of modification.
— The application of the explanation to the method of maodification
— Cultural or other bias inherent in the explanation.
— Position on debates such as nature — nurture, free will — determinism.
— Comparison with other explanations.

e Any other appropriate strength or weakness.

© WIJEC CBAC Ltd.
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Marks

AQO3

9-10

A thorough evaluation made of the strengths and weaknesses
of one method of modifying addictive behaviours.

Structure is logical throughout.

Depth and range included.

An appropriate conclusion is reached based on evidence
presented.

6-8

A reasonable evaluation is made of the strengths and
weaknesses of one method of modifying addictive behaviours.
Structure is mostly logical.

Depth and range but not in equal measure.

A reasonable conclusion is reached based on evidence
presented.

3-5

Basic evaluation is made of the strengths and weaknesses of
one method of modifying addictive behaviours.

OR

A reasonable evaluation is made of either the strength or
weakness one method of modifying addictive behaviours.
Structure is reasonable.

Depth or range.

A basic conclusion is reached.

1-2

Superficial evaluation is made the strengths and weaknesses
of one method of modifying addictive behaviours.

OR

Basic evaluation is made of either the strength or weakness
one method of modifying addictive behaviours.

Answer lacks structure.

There is no conclusion.

Inappropriate answer given.
No response attempted.
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Sticky Note

AO1



Sticky Note

Second explanation - dopamine hypothesis - identified.



Sticky Note

AO2 direct link made to scenario.



Sticky Note

AO1



Sticky Note

AO2 direct link made to scenario.



Sticky Note

First explanation (cognitive biases) identified.



Sticky Note

Question asks for two explanations.
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Sticky Note

Second explanation - dopamine hypothesis - identified.



Sticky Note

AO2 direct link made to scenario.
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AO1



Sticky Note

AO2 direct link made to scenario.



Sticky Note

Question asks for two explanations. 



Sticky Note

First explanation (cognitive biases) identified.
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AO1 8 marks
Descriptions of two explanations of addictive behaviour are reasonably detailed and accurate.
Good use of terminology.
Mostly logical structure.



Sticky Note

AO2 4 marks
Explanations have been reasonably applied to the scenario.



Sticky Note

Total 12 marks



Sticky Note

AO2 direct link made to scenario.
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AO3



Sticky Note

Brief AO3 point. Note that this is the only strength identified.



Sticky Note

 AO3 - could be elaborated / evidenced.



Sticky Note

AO3 - could be elaborated / evidenced.



Sticky Note

AO3 points identified. Some elaboration of earlier point. All points could be more clearly made.



Sticky Note

AO3 point but could be explained rather than just identified.



Sticky Note

Description.



Sticky Note

First paragraph is description so does not gain marks.



Sticky Note

Identifies aversion therapy as the method to be discussed.
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Could be explained more clearly.
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Could be explained more clearly.
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AO1  - Could be expressed more clearly.
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First explanation identified.
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Question asks for two explanations.
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AO1 
Could be elaborated.



Sticky Note

Second explanation identified.



Sticky Note

AO2 direct link to scenario.



Sticky Note

Superficial AO1.



Sticky Note

More vulnerable to what?





Write the two digit question number inside

i the boxes next to the first line of your answer Answer
Ysgrifennwch rif dau ddigid y cwestiwn yn y
blychau gyferbyn & linell gyntaf eich ateb Ateb

i

TP Dopamine_ gived pleasurahle_cf el
@aacuﬁmm@gw%in&Lﬁ L

A S B |

1 I I 1 I

e ey Saw one, tnoy woultd get
o Q‘MM_QLQPMLLM,_%/KB,QL, r
machone v net auadable, for

MM»"

i




Pencil



Sticky Note

AO2 3 marks
Explanations are reasonably applied to the scenario although there are some aspects which are not applied.



Sticky Note

AO1 4 marks
Descriptions of two explanations of addictive behaviours are basic.



Sticky Note

Total 7 marks
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AO2 direct link to scenario.
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Sticky Note

Answer does not explain how dopamine explains addiction.
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Unclear what the evaluation point is in this paragraph.
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AO3



Sticky Note

AO3 (superficial)



Sticky Note

Identifies explanation to be discussed.



Sticky Note

Description of explanation does not gain any credit as this question is all AO3.
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AO3 (basic)
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AO3 (could be explained further).



Sticky Note

No credit can be given for description.
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AO3
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Sticky Note

Identifies an interesting evaluation point but does not develop this.



Sticky Note

Conclusion (basic)



Sticky Note

AO3 (basic)
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Another interesting point which could be explained further.
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Sticky Note

AO3 4 marks
Although there are a range of both strengths and weaknesses identified, the evaluation is basic.
A basic conclusion is also reached.






















1.

SECTION A: The study of behaviours

Answer three questions in full.

Addictive behaviours

(@) Signs of fruit machine addiction include: the belief that one is not gambling with real

Describe how two explanations of addictive behaviours can be applied to the above
scenario. [15]

money; the development of a personal ‘relationship’ with the machine; and a feeling of
irritation if someone else is playing that machine. Addicts may play for longer than they
planned and lie about how much money they have won or lost.

(b) Discuss the strengths and weaknesses of one method of modifying addictive
behaviours. [10]
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2. Autistic spectrum behaviours

(@)

© WIJEC CBAC Ltd.

Describe the characteristics of autistic spectrum behaviours. [10]

This question asks for A01 (description of the characteristics).

Credit could be given for:

e Autistic spectrum disorders are developmental disorders that have
serious effects on a child's ability to develop language, communication
and normal patterns of social interaction. It is likely that candidates will
focus on the ‘triad of impairments * for autism (Wing, 1981) which are
described as follows:

e Abnormal social interaction - this stems from difficulties in empathising
/ the lack of theory of mind / inability to see the world from the point of
view of others and understand their thoughts and feelings.

e Impairments in verbal and nonverbal communication— difficulties in
understanding things like irony, metaphors and figurative speech - they
are over-literal.

o Lack of pretend play/restricted range of interests and insistence on
routine. They may also include descriptions of Asperger’s syndrome
(AS)separately such as:

Limited interests or an unusual preoccupation with a particular
subject to the exclusion of other activities.

Repetitive routines or rituals.

Peculiarities in speech and language, such as speaking in an overly
formal manner or in a monotone, or taking figures of speech literally
Socially and emotionally inappropriate behaviour and the inability to
interact successfully with peers.

Problems with non-verbal communication, including the restricted
use of gestures, limited or inappropriate facial expressions, or a
peculiar, stiff gaze.

Clumsy and uncoordinated motor movements.

Other candidates may choose to describe ‘autistic spectrum
disorders’ as a whole and this is likely to centre around problems in
social skills, language development, emotions, behaviour patterns,
school problems and other health problems.

Reference to specific cases (if used to illustrate the characteristics)
should be credited.

Credit should be given whichever approach is taken. It is also
important to realise that estimates of the prevalence of autism,
Asperger’s syndrome and autistic spectrum behaviours as a whole,
vary widely as do the estimates of the ratio of male: female and this
should be taken into account when marking.






(b)
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Marks

AO1

9-10 o Description of the characteristics of autistic spectrum behaviours
is thorough and accurate.
e There is depth and range to material included.
o Effective use of terminology throughout.
e Logical structure.
6-8 o Description of the characteristics of autistic spectrum behaviours
is reasonably detailed and accurate.
e There is depth and range to material used, but not in equal
measure.
e Good use of terminology.
o Mostly logical structure.
3-5 o Description of the characteristics of autistic spectrum behaviours
is basic in detail and accuracy.
e There is depth or range only in material used.
e Some use of appropriate terminology.
o Reasonable structure.
1-2 e Description of the characteristics of autistic spectrum behaviours
is superficial.
Little use of appropriate terminology.
o Answer lacks clarity.
0 e |nappropriate answer given.

e No response attempted.

Some psychologists would suggest that social psychological explanations do not
fully explain autistic spectrum behaviours. With reference to this statement,
evaluate social psychological explanations of autistic spectrum behaviours. [15]

This question asks for both AO2 (application to the statement) and AO3
(evaluation of social psychological explanations)

Credit could be given for:
e The social psychological explanations identified on the specification are as
follows:

Male behaviour.

Empathising — systemising theory.

Refrigerator mother.

Candidates must refer to at least two explanations and these can be two
of the above or any other appropriate explanation. This question is A02
and A03 only. The focus should be on the evaluation of the social
psychological explanations and not the description of the explanations.

e Evaluation points are likely to include:

The validity of the explanation.

The evidence for and against the explanation.
The usefulness of the explanation.

The application of the explanation to therapy.
Comparison with other explanations.

Cultural or other bias inherent in the explanation.

e Any other evaluation point to be credited.

AO2 mark could be awarded for

e Links to the statement that social psychological explanations do not fully
explain autistic spectrum behaviours.

e Clearly developed arguments that social psychological explanations do / do

not

fully explain autistic spectrum behaviours (with or without an explicit link

to the statement).
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Marks

AO2

Details are accurate.

The evidence used is well-chosen and applied effectively to the
statement.

There is depth and range to the evidence used.

Clear reference to the statement.

34

Details are mostly accurate.

Appropriate evidence used and applied to the statement.
There is depth or range to the evidence used.
Reasonable reference to the statement.

There may be inaccuracies throughout.

Evidence is described but not applied or has only weak links to
the statement.

Reference to the statement is superficial.

No evidence included.
No attempt at application.

Marks

AO3

9-10

A thorough evaluation made of social psychological
explanations of autistic spectrum behaviours.

Structure is logical throughout.

An appropriate conclusion is reached based on evidence
presented.

6-8

A reasonable evaluation is made of social psychological
explanations of autistic spectrum behaviours.

Structure is mostly logical.

A reasonable conclusion is reached based on evidence
presented.

Basic evaluation is made of social psychological explanations of
autistic spectrum behaviours.

Structure is reasonable.

A basic conclusion is reached.

1-2

Superficial evaluation is made of social psychological
explanations of autistic spectrum behaviours.
Answer lacks structure.

There is no conclusion.

Inappropriate answer given.
No response attempted.
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Sticky Note

AO1 This was awarded 5 marks.
Description of the characteristics of autistic spectrum behaviours is basic in detail and accuracy.
There is depth or range only in material used. 
Some use of appropriate terminology. 
Reasonable structure.



Sticky Note

AO1



Sticky Note

AO1



Sticky Note

AO1



Sticky Note

Question asks for a description of the characteristics (all AO1).
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Sticky Note

AO2 1 mark
Superficial reference to the statement.



Sticky Note

AO3 1 mark
Superficial evaluation.



Sticky Note

Total 2 marks



Sticky Note

Superficial AO3 point.



Sticky Note

Superficial reference to the statement.



Sticky Note

No credit for description of explanations as this question is an AO2/  AO3 question.
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Sticky Note

AO1 7 marks
Description of the characteristics of autistic spectrum behaviours is reasonably detailed and accurate. 
There is depth and range to material used, but not in equal measure. 
Good use of terminology. 
Mostly logical structure.



Sticky Note

AO1



Sticky Note

AO1



Sticky Note

AO1
Detail / example.
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Sticky Note

AO3 0 marks
A03 point in final sentence not sufficiently developed to achieve any marks.



Sticky Note

AO2 0 marks
No evidence included.
No attempt at application. 



Sticky Note

Total 0 marks
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Sticky Note

AO1 10 marks
This was awarded full marks
Description of the characteristics of autistic spectrum behaviours is thorough and accurate. 
There is depth and range. Effective  use of terminology. 
Logical structure.



Sticky Note

AO1
Thorough and accurate description
depth and range of points.



Sticky Note

AO1
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AO1
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Sticky Note

AO3 point made clearly and supported with evidence (AO2).



Sticky Note

Clear and logical structure.



Sticky Note

AO2 applied effectively to the statement.



Sticky Note

Immediate reference to statement.
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Sticky Note

AO3 10 marks
Thorough evaluation, logical structure and appropriate conclusion.



Sticky Note

AO2 5 marks
Evidence has been well chosen and applied effectively to the statement.



Sticky Note

AO2



Sticky Note

Strong conclusions.



Sticky Note

AO2



Sticky Note

Good structure / balance of positive and negative points.



Sticky Note

AO3



Sticky Note

AO3
Thorough evaluation.



Sticky Note

Total 15 marks
















2. Autistic spectrum behaviours

(a) Describe the characteristics of autistic spectrum behaviours. [10]

(b) Some psychologists would suggest that social psychological explanations do not fully
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4, Criminal behaviours.

(@)

© WIJEC CBAC Ltd.

Outline two biological explanations of criminal behaviours. [5+5]

This question asks for AO1 (describe two biological explanations of criminal
behaviours).

Credit could be given for:

The disinhibition hypothesis which suggests that drug intoxication
affects central nervous system functions that presumably control or
inhibit aggression.

The inherited criminality explanation which states that genetic factors
are responsible for crime. For example the results of twin and adoption
studies such as Hutchings and Mednick (1973) who found a significant
correlation between the criminal convictions of biological fathers and the
number of criminal convictions of their sons who had been adopted into
other families.

The role of the amygdala in controlling aggression. For example the
work of Raine, Buchsbaum and LaCasse (1997) who used PET scans to
compare the brain activity of 41 convicted male murderers with 41
normal males (who were matched controls). They found that that the
murderers did have different brain functioning compared to the normal
controls in some areas. Among other findings, the murderers had
reduced activity in the prefrontal cortex and abnormal activity in the
amygdala.

Any other biological explanation can be credited.

For each explanation:

Marks AO1

5 e Description of explanation is thorough and accurate.
e There is depth and range to the material included.
e Effective use of terminology throughout.
e Logical structure.

3-4

e Description of explanation is reasonably detailed and
accurate.

e There is depth and range to the material used but not in
equal measure.

e Good use of terminology.

Structure is mostly logical.

1-2

Description of explanation is basic in detail and accuracy.
There is depth or range only in material used.

Some use of appropriate terminology.

Answer lacks structure.

Inappropriate answer given.
¢ No response attempted.

11






(b) ‘Criminals are born and not made’.

With reference to explanations of criminal behaviours assess how far you
agree with this statement. [15]

This question asks for both AO2 (application to the statement) and AO3
(evaluation of explanations of criminal behaviour)

Credit could be given for:

e This is a ‘nature- nurture’ debate and candidates are likely to respond by
giving evidence for each side of this debate. They may refer to biological
evidence (see above) but also to criticisms of the biological explanations
such as:

— Biological explanations tend be orientated toward violent crimes,
empirical evidence suggest that direct, pharmacologically based
violence is rare.

— Disinhibition effects are thought to be learned, rather than directly
produced by pharmacological effects.

— Twin and adoption studies never show 100% concordance rates,
which leaves room for environmental effects.

e They may refer to the other side of the debate and use evidence from
individual differences / social psychological explanations and evidence
from the specification which includes:

— Differential association theory.

— Gender socialisation.

— Normalisation theory.

— Eysenck’s criminal personality.

— Intelligence factors.

— Psychopathic personality (note that these last three may contain
elements of biological explanations).

e Any other appropriate argument should be credited such as: The role of
the media or other social factors, Cognitive theories of criminal thinking

o Examiners should note that candidates should not be credited for simply
describing information- they must use the material they include to
address the debate.

¢ Candidates should also be credited for discussion points such as
the role of free will / determinism.

e The social construction of crime (social differences, cultural differences,
historical changes, etc.).

12
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Marks

AO2

Details are accurate.
The evidence used is well-chosen and applied effectively.
Clear reference to the statement.

34

Details are mostly accurate.
Appropriate evidence used and applied.
Reasonable reference to the statement.

1-2

There may be inaccuracies throughout.

Exemplars are described but not applied or have weak links to
the question.

Reference to the statement is superficial.

No evidence included.
No attempt at application.

Marks

AO3

9-10

A thorough evaluation made of explanations of criminal
behaviours.

Structure is logical throughout.

Depth and range included.

An appropriate conclusion is reached based on evidence
presented.

A reasonable evaluation is made of explanations of criminal
behaviours.

Structure is mostly logical.

Depth and range but not in equal measure.

A reasonable conclusion is reached based on evidence
presented.

3-5

Basic evaluation is made of explanations of criminal
behaviours.

Structure is reasonable.

Depth or range.

A basic conclusion is reached.

Superficial evaluation is made of explanations of criminal
behaviours.

Answer lacks structure.
There is no conclusion.

Inappropriate answer given.
No response attempted.

13
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Pencil



Pencil



Sticky Note

Total 4+3 = 7



Sticky Note

AO1 in this answer just reaches the 'reasonably detailed and accurate' band. Material could have been explained more thoroughly / used more effectively.



Sticky Note

Second explanation.



Sticky Note

AO1 in this answer is reasonably detailed and accurate.



Sticky Note

AO1 4 marks



Sticky Note

AO1



Sticky Note

AO1



Sticky Note

First explanation identified.



Sticky Note

Question asks for two biological explanations.



Sticky Note

AO1 3 marks
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Pencil



Sticky Note

AO3



Sticky Note

Link to statement here (which could be made more explicit).



Sticky Note

AO3 points identified and fully explained.



Sticky Note

AO3



Sticky Note

AO3 evaluation point linked to evidence (social psychological explanations).



Sticky Note

AO2



Sticky Note

AO3

Strong opening statement.



Sticky Note

immediate reference to statement.
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Sticky Note

AO3 6 marks
Reasonable evaluation is made of explanations of criminal behaviour.



Sticky Note

AO2 2 marks
Reference to the statement is superficial.



Sticky Note

Total = 8 marks



Sticky Note

AO2 link to statement
(candidate could have used 'born and not made' to make link more explicit).



Sticky Note

Conclusion



Sticky Note

AO2











